I would like you to reply to this student about what you think and why? Give your opinion about what she or he think in this paragraph there is no wrong answer.
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Here is the paragraph:

Carrying Capacity

“I think the Earth has a finite carrying capacity for humans. I think the capacity is determined by population and lifestyle. In the United States and other industrialized countries, the average lifestyle for the citizens are fairly lavish compared to the rest of the world. The citizens are diminishing natural resources and due to the high population and the high usage of these resources the Earth is unable to replenish them fast enough. Soon we will be in trouble with the lack on resources.”
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